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Ideals for irreducible component#ﬂ)f Xpar

I = (W +u*+. = 2u—1)

* 1 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(@w?4+u?2+... —2u—1)

(i) Arc colorings

o ()

1

ag = 0

ay =
ayp =
asz =

ag =

—u? 4
u2
ut —u +1
ag =
—u12+u —3ud+2ub —u?+1
ut — 2u? + 5ut0 — 6ud + 6ub — 2ut 4 u?
—ub +u — 2u +1
—ub —u?
—ul® Jr 2ul‘3 G6ull + 8u? — 10u” + 8u® — 4u® + 2u
—ul® 4 13 — 4ot + 309 — 40" + 2u° — 2P +u
(u —2uM + 7l — 106t + 1403 — 120t + 50 + 207 — 5u® 4 2ud — u)

w2 L2l =1
—2uM + el — 106t + 1403 — 120! + 50 + 207 — Bu® + 2ud — u
a4 = u22+u21—|—---—u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4u?? — 12020 — 40 4 40u'® 4 8u'” — 80u'® — 28u'® + 132w + 40u'® — 176u'? —
56ut! 4+ 172019 + 48u° — 14448 — 24u” + 80u® — 4u® — 44u* + 8ud + 16u? — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 WB e+ —2u—1
Ca,Cs, C
2,C5,C6 U23+5u22+"'+8u+1
Cs
C3,Cyq, C
30409 u® tu* 4 —du—1
€10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, e yB 52 8y — 1
€2, Cs,Cé yP 2ty 4y —1
cs
C3,C4,C9 y23—29y22+~-~+8y—1
€10, C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.870875 4 0.4649721

—1.83130 + 4.255511

—14.9090 — 7.78891

u = —0.870875 — 0.4649721

—1.83130 — 4.255511

—14.9090 + 7.78891

u = —0.971379

—13.4466

—20.2820

u=0.958938 + 0.4619871

—10.82570 — 5.401021

—16.2163 4 5.67711

0.958938 — 0.4619871

—10.82570 4 5.401021

—16.2163 — 5.67711

0.717237 + 0.4854901

1.10748 — 1.878731

—6.66063 + 5.683451

u= 0.717237 — 0.4854901

1.10748 + 1.878731

—6.66063 — 5.683451

u= 0.861396

—4.23946

—21.1260

u= 0.362544 + 0.6787801

—8.93621 + 1.221351

—11.90750 — 0.105841

u= 0.362544 — 0.6787801

—8.93621 — 1.221351

—11.90750 + 0.105841

u = —0.861249 4 0.9019221

—1.94992 — 2.553991

—11.84797 + 0.319761

u = —0.861249 — 0.9019221

—1.94992 + 2.553991

—11.84797 — 0.319761

u = 0.890856 + 0.8857291

6.62290 + 0.448941

—10.13262 — 1.466381

u = 0.890856 — 0.8857291

6.62290 — 0.448941

—10.13262 4 1.466381

u = —0.921402 + 0.8759421

9.09276 + 3.240621

—6.19152 — 2.555571

u = —0.921402 — 0.875942]

9.09276 — 3.240621

—6.19152 + 2.555571

u= 0.947828 + 0.8613571

6.44204 — 6.913421

—10.56964 + 6.262571

u= 0.947828 — 0.8613571

6.44204 4 6.913421

—10.56964 — 6.262571

u = —0.973841 4 0.8515851

—2.30857 + 9.033281

—12.45199 — 5.052191

u = —0.973841 — 0.8515851

—2.30857 — 9.033281

—12.45199 + 5.052191

u = —0.457331 4 0.5113241

—0.602334 — 0.4585521

—11.06917 + 1.128371

u = —0.457331 — 0.5113241

—0.602334 + 0.4585521

—11.06917 — 1.128371

u = —0.475427

—0.610128

—16.6790




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 B a4+ —2u—1
€2,C5,C
25,6 P+ 5u + o+ 8u+ 1
Cs8
C3,C4,Cy w2 Ay —1
€10, €11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C7 y? —5y* 4+ 48y —1
€2,Cs5,C6 yB 2ty 4 4y —1
Cs8
C3,C4,Co y23_29y22++8y_1
€10, €11




